

L'Hôpital's Rule

$a_n, b_n, b_n \uparrow$ and $\lim_{n \rightarrow \infty} b_n = +\infty \Rightarrow \lim_{n \rightarrow \infty} \frac{a_n}{b_n} \stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1} - a_n}{b_{n+1} - b_n}$

(*) - ykonuko γεμα σήματα
ώσαωζήμ

① $\lim_{n \rightarrow \infty} \frac{1^p + 2^p + 3^p + \dots + n^p}{(n+1)^p} = ? \quad p > 0$

$b_n = (n+1)^p \uparrow \quad n \in \mathbb{N}, p > 0 \quad \lim_{n \rightarrow \infty} b_n = +\infty$
 $a_n = 1^p + 2^p + \dots + n^p$

$\lim_{n \rightarrow \infty} \frac{a_n}{b_n} \stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1} - a_n}{b_{n+1} - b_n} = \lim_{n \rightarrow \infty} \frac{(n+1)^p}{(n+1)^p - (n+1)^p} = \lim_{n \rightarrow \infty} \frac{1}{\left(\frac{n+2}{n+1}\right)^p - 1} = \lim_{n \rightarrow \infty} \frac{1}{\underbrace{\left(1 + \frac{1}{n+1}\right)^p - 1}_{\downarrow \rightarrow 0^+}} = +\infty$

$\lim_{n \rightarrow \infty} \frac{a_n}{b_n} = +\infty \quad \checkmark$

② $\lim_{n \rightarrow \infty} \frac{1^k + 2^k + \dots + n^k}{n^{k+1}} = ? \quad k \in \mathbb{N}$

$a_n = 1^k + 2^k + \dots + n^k$
 $b_n = n^{k+1}$

$b_n \uparrow \quad \lim_{n \rightarrow \infty} n^{k+1} = +\infty$

$\lim_{n \rightarrow \infty} \frac{1^k + \dots + n^k}{n^{k+1}} \stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{(1^k + \dots + n^k + (n+1)^k) - (1^k + \dots + n^k)}{(n+1)^{k+1} - n^{k+1}} = \lim_{n \rightarrow \infty} \frac{(n+1)^k}{(n+1)^{k+1} - n^{k+1}}$

$= \lim_{n \rightarrow \infty} \frac{\sum_{m=0}^k \binom{k}{m} n^m}{\sum_{m=0}^k \binom{k+1}{m} n^m} = \lim_{n \rightarrow \infty} \frac{\sum_{m=0}^k \binom{k}{m} n^m}{\sum_{m=0}^k \binom{k+1}{m} n^m} = \frac{\binom{k}{k}}{\binom{k+1}{k}} = \frac{1}{k+1}$

$\hookrightarrow m = k+1 \quad \binom{k+1}{k+1} = 1$

$\lim_{n \rightarrow \infty} \frac{1^k + \dots + n^k}{n^{k+1}} = \frac{1}{k+1}$

③ Kōwlijeba's Rule: $\lim_{n \rightarrow \infty} a_n = a \in \mathbb{R} \Rightarrow \lim_{n \rightarrow \infty} \frac{a_1 + a_2 + \dots + a_n}{n} = a$

$b_n = n \uparrow \quad \lim_{n \rightarrow \infty} b_n = +\infty$

$\lim_{n \rightarrow \infty} \frac{a_1 + \dots + a_n}{n} \stackrel{L'H}{=} \lim_{n \rightarrow \infty} \frac{a_{n+1}}{1} = a$

$\Rightarrow \lim_{n \rightarrow \infty} \sqrt[n]{a_1 \cdot a_2 \cdot \dots \cdot a_n} = a = \lim_{n \rightarrow \infty} \frac{\sqrt[n]{a_1 \cdot a_2 \cdot \dots \cdot a_n}}{n} = \lim_{n \rightarrow \infty} \frac{1}{\frac{1}{a_1} + \frac{1}{a_2} + \dots + \frac{1}{a_n}}$

1. $\forall n \in \mathbb{N} \ a_n > 0 \Rightarrow \lim_{n \rightarrow \infty} \sqrt[n]{a_n} \stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{a_n}{a_{n-1}}$, $(*)$ - укорачувањето десна страна постојно

(4) $\lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n!}{n^n}} \stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{\frac{n!}{n^{n+1}}}{\frac{n!}{(n-1)^{n-1}}} = \lim_{n \rightarrow \infty} \frac{(n-1)^{n-1}}{n^{n-1}} = \lim_{n \rightarrow \infty} \left(1 - \frac{1}{n}\right)^{n-1} =$
 $= \lim_{n \rightarrow \infty} \left(1 - \frac{1}{n}\right)^{-n} = \frac{1}{e}$

$\lim_{n \rightarrow \infty} a_n = +\infty \Rightarrow \lim_{n \rightarrow \infty} \left(1 + \frac{1}{a_n}\right)^{a_n} = e$

за брзоту одредувањето $\lim_{n \rightarrow \infty} \frac{1}{\sqrt[n]{n!}}$

(5) $\lim_{n \rightarrow \infty} \frac{n}{a^n} \sum_{k=1}^n \frac{a^{k-1}}{k} = ?$, $a > 1$

$L = \lim_{n \rightarrow \infty} \frac{n \cdot \sum_{k=1}^n \frac{a^{k-1}}{k}}{a^n}$

$(n+1) \sum_{k=1}^{n+1} \frac{a^{k-1}}{k} - n \sum_{k=1}^n \frac{a^{k-1}}{k} = \sum_{k=1}^{n+1} \frac{a^{k-1}}{k} + n \cdot \frac{a^n}{n+1} \rightarrow$ *није јавно поједноставење*

$L = \lim_{n \rightarrow \infty} \frac{\sum_{k=1}^n \frac{a^{k-1}}{k}}{\frac{a^n}{n}} \stackrel{(*)}{=} \lim_{n \rightarrow \infty} \frac{\sum_{k=1}^{n+1} \frac{a^{k-1}}{k} - \sum_{k=1}^n \frac{a^{k-1}}{k}}{\frac{a^{n+1}}{n+1} - \frac{a^n}{n}} = \lim_{n \rightarrow \infty} \frac{\frac{a^n}{n+1}}{\frac{a^{n+1}}{n+1} - \frac{a^n}{n}} = \lim_{n \rightarrow \infty} \frac{1}{a - \frac{n+1}{n}} = \frac{1}{a-1}$

$\frac{a^n}{n} \rightarrow +\infty$
 $\frac{a^n}{n} \uparrow$ за $n \geq n_0$

$\Rightarrow L = \frac{1}{a-1}$

(6) $x_0 > 0$, $x_{n+1} = \frac{x_n}{1+x_n^2}$

$\lim_{n \rightarrow \infty} x_n = ?$
 $\lim_{n \rightarrow \infty} n \cdot x_n^2 = ?$

$x_n \square x_{n+1}$
 $x_n \square \frac{x_n}{1+x_n^2} \quad / \cdot (1+x_n^2)$
 $x_n + x_n^3 \square x_n$
 $x_n^3 \square 0$

$x_0 > 0 \Rightarrow \exists n \in \mathbb{N} \ x_n > 0 \Rightarrow \exists n \in \mathbb{N} \ x_n > x_{n+1}$
 $\cap \cup \cup \cup ; \dots$
 \downarrow

$x_n \downarrow$ и $x_n > 0 \Rightarrow x_n$ монотонна

$$\lim_{n \rightarrow \infty} x_n = x = \lim_{n \rightarrow \infty} x_{n+1} = \lim_{n \rightarrow \infty} \frac{x_n}{1+x_n^2} = \frac{x}{1+x^2}$$

$$x = \frac{x}{1+x^2} \Rightarrow x \cdot \left(1 - \frac{1}{1+x^2}\right) = 0 \Rightarrow x = 0$$

$$\lim_{n \rightarrow \infty} x_n = 0$$

$$\lim_{n \rightarrow \infty} n \cdot x_n^2 = ?$$

$$x_{n+1} = \frac{x_n}{1+x_n^2}, \quad x_n > 0$$

$$\lim_{n \rightarrow \infty} n \cdot x_n^2 = \lim_{n \rightarrow \infty} \frac{n}{\frac{1}{x_n^2}} \stackrel{\text{ЛГ}}{=} \lim_{n \rightarrow \infty} \frac{n+1-n}{\frac{1}{x_{n+1}^2} - \frac{1}{x_n^2}} = \lim_{n \rightarrow \infty} \frac{1}{\frac{1}{x_n^2(1+x_n^2)^2} - \frac{1}{x_n^2}} = \lim_{n \rightarrow \infty} \frac{1}{\frac{1 - (1+x_n^2)^2}{x_n^2(1+x_n^2)^2}} =$$

$$x_n \downarrow \Rightarrow \frac{1}{x_n^2} \uparrow \quad \text{и} \quad \lim_{n \rightarrow \infty} \frac{1}{x_n^2} = +\infty$$

$$= \lim_{n \rightarrow \infty} \frac{x_n^2}{x_n^4 + 2x_n^2} = \lim_{n \rightarrow \infty} \frac{1}{x_n^2 + 2} = \frac{1}{2}$$

$$\textcircled{\text{F}} \quad \lim_{n \rightarrow \infty} x_n = x, \quad \lim_{n \rightarrow \infty} y_n = y, \quad x, y \in \mathbb{R}$$

$$\lim_{n \rightarrow \infty} \frac{x_1 y_n + x_2 y_{n-1} + \dots + x_n y_1}{n} = ?$$

$$1^\circ \quad x = y = 0$$

$$0 \leq \left| \frac{x_1 y_n + x_2 y_{n-1} + \dots + x_n y_1}{n} \right| \leq \frac{|x_1| |y_n| + \dots + |x_n| |y_1|}{n} \leq \frac{M (|x_1| + \dots + |x_n|)}{n}$$

$$\lim_{n \rightarrow \infty} z_n = 0 \Leftrightarrow \lim_{n \rightarrow \infty} |z_n| = 0$$

$$\lim_{n \rightarrow \infty} x_n = 0 = \lim_{n \rightarrow \infty} y_n \Rightarrow \lim_{n \rightarrow \infty} |y_n| = \lim_{n \rightarrow \infty} |x_n| = 0$$

$$\Rightarrow \exists M > 0 \quad \forall n \in \mathbb{N} \quad |y_n| \leq M$$

↓
используем
теорему
 $n \rightarrow +\infty$
 $M \cdot 0 = 0$

$$2^\circ \quad \lim_{n \rightarrow \infty} |z_n| = 0 \Rightarrow \lim_{n \rightarrow \infty} \frac{x_1 y_n + x_2 y_{n-1} + \dots + x_n y_1}{n} = 0$$

$$2^\circ \quad x, y \in \mathbb{R}$$

$$\lim_{n \rightarrow \infty} x_n = x \Rightarrow \lim_{n \rightarrow \infty} \frac{x_n - x}{x_n} = 0 \Rightarrow \lim_{n \rightarrow \infty} \alpha_n = 0, \quad x_n = x + \alpha_n$$

$$\lim_{n \rightarrow \infty} y_n = y \Rightarrow \lim_{n \rightarrow \infty} \frac{y_n - y}{y_n} = 0 \Rightarrow \lim_{n \rightarrow \infty} \beta_n = 0, \quad y_n = y + \beta_n$$

$$\begin{aligned}
 x_1 y_n + x_2 y_{n-1} + \dots + x_n y_1 &= (x + \alpha_1)(y + \beta_n) + (x + \alpha_2)(y + \beta_{n-1}) + \dots + (x + \alpha_n)(y + \beta_1) \\
 &= xy + x \cdot \beta_n + y \cdot \alpha_1 + \alpha_1 \beta_n + xy + x \cdot \beta_{n-1} + y \cdot \alpha_2 + \alpha_2 \beta_{n-1} + \dots + xy + y \cdot \alpha_n + x \beta_1 + \alpha_n \beta_1 = \\
 &= n \cdot xy + x(\beta_1 + \beta_2 + \dots + \beta_n) + y(\alpha_1 + \dots + \alpha_n) + \alpha_1 \beta_n + \alpha_2 \beta_{n-1} + \dots + \alpha_n \beta_1
 \end{aligned}$$

$$\lim_{n \rightarrow \infty} z_n = \lim_{n \rightarrow \infty} \frac{nxy + x(\beta_1 + \dots + \beta_n) + y(\alpha_1 + \dots + \alpha_n) + \alpha_1 \beta_n + \alpha_2 \beta_{n-1} + \dots + \alpha_n \beta_1}{n}$$

$$\begin{aligned}
 &= xy + x \underbrace{\lim_{n \rightarrow \infty} \frac{\beta_1 + \beta_2 + \dots + \beta_n}{n}}_{=0} + y \underbrace{\lim_{n \rightarrow \infty} \frac{\alpha_1 + \dots + \alpha_n}{n}}_{=0} + \underbrace{\lim_{n \rightarrow \infty} \frac{\alpha_1 \beta_n + \alpha_2 \beta_{n-1} + \dots + \alpha_n \beta_1}{n}}_{=0} = xy
 \end{aligned}$$